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Two linear equations with two unknowns, T and &, solve +03e’rher
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Use the result for & in @ The eutje#rem is accelerated
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Triction - viandmakrattar

Friction

Friction is a force that opposes relative motion between systems in contact.

oPeng’rax

Static and Kinetic Friction

If two systems are in contact and stationary relative to one another, then the friction between them is called
static friction. If two systems are in contact and moving relative to one another, then the friction between
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them is called kinetic friction.




Direction of motion @
or attempted motion
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Magnitude of Static Friction

The magnitude of static friction f; is

b"ﬂ i:ﬂsN;J 6.1

where g is the coefficient of static friction and Nis the magnitude of the normal force.
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Magnitude of Kinetic Friction

The magnitude of kinetic friction f} is given by

where yy is the coefficient of kinetic friction.
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System Static Friction g  Kinetic Friction g
Rubber on dry concrete 1.0 0.7
Rubber on wet concrete 0.5-0.7 0.3-0.5
Wood on wood 0.5 0.3
Waxed wood on wet snow 0.14 2_1
Metal on wood 0.5 0.3
Steel on steel (dry) 0.6 0.3
Steel on steel (oiled) 0.05 0.03
Teflon on steel 0.04 0.04
Bone lubricated by synovial fluid [}_._[J_lg {1_01_5
Shoes on wood 0.9 0.7
Shoes on ice 0.1 0.05
Ice on ice 0.1 0.03
Steel on ice 0.4 0.02 _

o(aena’rax

<



Ex. 640
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Tor 5+ead3 circular motion we
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needed to maintain the motion
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this is lower than usually the real coetficient for tire and asehalt, so ok,

but it i1 better so ..
The mass cancels!

Banked curve, why?
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Pseudoforce - ce.n’rri?uqal force in noninertial 535+ems

Merry-go-round’s rotating frame of reference Inertial frame of reference
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Pseudoforce - Coriolis force (noninertial 33&.’r€m) @
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